11/6/2014 Print Test

PRINTABLE VERSION

Quiz 3

You scored 100 out of 100

Question 1 eCwIR)= ¢ L“nﬂ! = _3"-_ e O-5

Your answer is CORRECT.

PLR)

The probability that a randomly selected person has high blood pressure (the event H) 1s P(H) = 0.3
and the probability that a randomly selected person is a runner (the event R) 1s P(R) = 0.4. The
probability that a randomly selected person has high blood pressure and 1s a runner is 0.2. Find the

Y4

probability that a randomly selected person has high blood pressure, given that he is a runner.

a) 029

b) 0 w
(© @ o050

d) 0067

e) 1

f) © None of the above.
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Question 2 PLRIN):= E_L_M___\-D =
Your answer is CORRECT. PLw)

The probability that a randomly selected person has high blood pressure (the event H) 1s P(H) = 0.4
and the probability that a randomly selected person is a runner (the event R) 1s P(R) = 0.2. The
probability that a randomly selected person has high blood pressure and 1s a runner is 0.1. Find the
probability that a randomly selected person is a runner, given that he has high blood pressure.

0-25

© 025 "
b) 1
¢) 050
d) 017
e) 00

-
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f) * None of the above.

Question 3
Your answer is CORRECT.

The probability that a student correctly answers on the first try (the event A) is P(A) = 0.1. If the
student answers incorrectly on the first try, the student is allowed a second try to correctly answer the
question (the event B). The probability that the student answers correctly on the second try given that
he answered incorrectly on the first try is 0.2. Find the probability that the student correctly answers
the question on the first or second try.

’ Pun-trz\ st P(BIAS) = 0.2

20V (answer en )

a) 030

Pled= ? Conswer om 27 )
N T DR PLAuB) =
c) 026 PLBU\")"’- fLBf\ﬁ'c’) \ |
d) 019 eLn ) o Quas P
0.28 0-2:2P(BNAC) Pf®* -

-9

(:)uest::r;e of the above. PLBnAL) . l " ) Pmu$)
Your answer 1s CORRECT.

Given the following sampling distribution:

X -19-14 -3 |[12 (|15
P(X) |Yas[V50(P25 Y50

What is P(X = 15)? '7!:5* "5".: %s* ;‘.—orx -
a)  0.82

b) © 0.86 x= 0.8%
¢) ) 0.83

d) ©0.15

0.84

f) * None of the above
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Question 5
Your answer is CORRECT.
Va2 Li e laxz
Given the following sampling distribution: 1o * "]:s oo 52
X s 5 Ji7] x= 2
X |-18/-10/-3 |5 |17 —_
| 25

P(X)|[Ya0(%45Y100( Y50

What is P(X > -10)?

2\
(x>-10)= L + L + =2
a) 090 P © o0 50 25
b) ) 0.88 - 3_1. - 0.8%
¢) 085 loo

d) 086

® “os7

f) * None of the above

Question 6
Your answer 1s CORRECT.

Given the following sampling distribution:

< 4
X 20 [0z 12 20 A ¢+ +2 +F ex=l

wo 25 oo loo
PX) 7100/ 45! 100/ 7100

What is the mean of this sampling distribution? *= :Eo
a) 02 €t 9 s 2 () > H
b) © 129 X} = - Lﬁo) - ‘°(1$) t Llﬂ' ¥ 'Z'Lzo\ ¥ Llﬂ
¢) 132 ELX] = 13,02

13.0
) 08

f) * None of the above
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Question 7
Your answer 1s CORRECT.

Suppose you have a distribution, X, with mean = 6 and standard deviation = 8. Define a new random
variable Y = 9X - 3. Find the mean and standard deviation of Y.

Ewvilcelax-31 = aELx]-3
= QLu)-‘a“_ S

a) " E[Y]=51;0Y =69
® E[Y]=51;6Y=72

¢)  E[Y]=51;cY =648 VAR I“l < 9* Vor Lx) = gl -LY4 = S\&Y%

d) " E[Y]=54;cY =648
SY: S\g4 = 12

e) - E[Y]=54;6Y =69

f) * None of the above

Question 8
Your answer is CORRECT.

In testing a certain kind of missile, target accuracy is measured by the average distance X (from the
target) at which the missile explodes. The distance X is measured in miles and the sampling
distribution of X 1s given by:

X o 100
PX)|| Y15 s
Calculate the mean of this sampling distribution.

L
a) 748 E1x]= UL';l})"""Lq)""s"(%)fl‘leu;)

® ¢ 733 - 3.3
¢) 708
d) ) 1300.0
¢) 361

f) * None of the above

Question 9
Your answer is CORRECT.
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In testing a certain kind of missile, target accuracy is measured by the average distance X (from the
target) at which the missile explodes. The distance X is measured in miles and the sampling
distribution of X 1s given by: a °
X o wo 15°
X_Jlo_|[to |jso |jtoo |

PX)|[Yao || Y1110 |[F42

0
10

Calculate the variance of this sampling distribution.

Eiwlz o 1) +io( )+ so () + e o %

a) 342
- 8lo
b) © 1169.4 T (!
¢) 40105 Eix*de o( )Y () + 2soe(® £) tooool -,
d) 3898 - 328.8
2
e) 782 VAR L. F2ELE - Lsuo = N4

f) * None of the above

Question 10
Your answer is CORRECT.

Suppose you want to play a carnival game that costs 7 dollars each time you play. If you win, you get
$100. The probability of winning is 1/100. What 1s the expected value of the amount the carnival

W [
x|as | -1

Ll 3

by 590 PO | o | Yoo

stands to gain?

a)  -6.00

¢ 610 |

d) ©1.00 Eixdc< ‘i&U‘;,) -3 |oo)
© 6.00

f) * None of the above

Question 11
Your answer is CORRECT.

Suppose you want to play a carnival game that costs 8 dollars each time you play. If you win, you get
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$100. The probability of winning is 3/100. What is the expected value of the amount that you, the

. L
1 d ? w

player, stand to gain % A \ -3

a) 500 ?u\ 2- \ 11

b) © -5.10 | oo 199
(P © -s.00

93y _ ¥
d) ' -3.00 3\-8([) - -5
‘h'( loo) ( loo
e) -5.30

f) * None of the above

Question 12

Your answer 1s CORRECT. s

—

A random sample of 2 measurements is taken from the following population of values: 0, 1, 3,4, 7.

What 1s the probability that the range of the sample 1s 3? — —
3 3

b) <05 B T =03

. v
5 Ca 3 Wawe

c) 06 \ o{’ 3
@ ) 0.3

e) 01

f) * None of the above

Question 13
Your answer is CORRECT.

A furniture store is having a sale on sofas and you're going to buy one. The advertisers know that
buyers get to the store and that 1 out of 4 buyers change to a more expensive sofa than the one in the
sale advertisement. Let X be the cost of the sofa. What 1s the average cost of a sofa if the advertised
sofa 1s $300 and the more expensive sofa is $450?

a)  330.00 x|\ 4% | 3ec
b))* 337.50 POD \ ‘/q k 3/+
¢) ) 337.72
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d) 375.00 \

Erxd = @) L5) t(300) 3.
e) 412.50 l-'-
f) ~ None of the above E L'%] =4 3373 -]~
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